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Compute the approximate oxygen pressure
poxy — — log I763/ Ises.5
Y = T 0.00035/m

where

I763 : Normalized radiance at 765 pm

Is6s.5 : Normalized radiance at 868.5 um
m  : Air mass factor
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[List all tests over water] [List all tests over Iand]
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Add 1 to Count _cloudy

Add weight to Total cloudy Add weight to Total clear | vy
Add 1 to Count_clear A
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< 0.1 and poxy > 600 and over water\

< 0.1 and poxy > 600 and over land /

or

false

\false

{Total clear = Total cloudy
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false

Total clear = 0 and Count _cloudy > 0

or

true

Total clear <=1 and Count _cloudy > 2
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Total cloudy = 0 and Count clear > 0
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BTiy5 > 300
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